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f(x)=2x"—x"=2x" +28x" - 56x-160

We'll come back to this, since there's no miracle cure for Sth degree
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i sHtrox>-23x" + sty -2

Qodynal! 2eies!

+~ 2
+  Fackns of2 Tyt g TS &
L..:J'U"Sosg
A)s e e e Lo
S -5 1'% Aope
S — -8 ?ﬂ

0.03579918077, 2.622735166, 2.841010876, -1.499545222

y + ~
X ~_..t
//J \ P N Vi
X -+
-y - + -
t { |
-l so 4036 2,02 2.e4
T/'\( ’ (..q-f,-—‘. s—o)u( .oq/ ’3.(’1’5 UC’L-@", o.ﬂj
Qec: (-050,.036) 0 (2,61, 2 0)
Aoy =GO _tax +$T = = (o130 rL3x F28)
2.735481343 - (3.*107(-10))*l, -0.8880731574 - (2.464101616*10*(-10))*l,
1.152591815 + (4.464101616*10M(-10))*I
q 2.0% jq
eans 233 B9, 105
M = il . _ +— P
" N
- @4 LS 2.%3
C-up * (-89 1)V (2.37,00)

-0
a=pewm (77 ,282) U (1,23 D



240321.notebook March 21, 2024

Limibs (@) T~Rridy

[
Y Cad Be haviom ASK eyt
LA
k e
Polyporiols  Dagure 2 vy
%! ~jl /\\
(.-v.f-v"‘ —-(a;-w- .
Orwo‘ ilm-)'cb‘la‘\.o CMA-&J—.?'!—‘
Mr\—qov‘“'ahyv‘*u\ +3, TSZ mS>n Z_ﬁ‘t—'—b /
A = +
M\ﬁ('r? b x"+ « ¥ by XS
(w@ ™ Lin ) =0
“Tie" Rah = 3
T mProbeh 112 M S
“Ar\" +2 . ,S:C] - ﬂ _s::.q——-i"" @
N S S S /Aap LU B v Rl
bax + 4 -Péé | = oo
b
TN
V) r\e
3 o
y.—’»!-—’)—% - x-2 — 3’:‘
« =\
Yy -3 —-”;'5 ¥—>t &~ X -2
L =
/':-’_::0-’ Ip ke = X-2
Vo logur Asp—P J
(-2 =20 Ob ")“"



240321.notebook March 21, 2024

Let's graph RN (_x_’_-ﬂﬁf_iz
ez — 7 T x—1

It won't have that much wiggle. But it

A needs to approach x - 2 off to the right
! and to the left.
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